Meooe, Apeplicya fhon of Lodg.ono me foug

Katrina hikes 5 miles north, 7 miles east, and then 3 miles north again. To the nearest temth of a

1)
mile, how far, in a straight line, is Katrina rom her starting point?
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2)  The angle of elevation ol aramp is 6°. To 3)  To the nearest tenth of a foot, how high
the nearest tenth, how long i the ramp if up a wall does a 25-foot ladder reach if the
it’s horizontal base is 300 feet? foot of the ladder is 6 [eet from the wall?
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4)  From the “crows nest” of a ship, 100 feet above the waler, a lifeboat is observed at an angle of
depression of 4°. How far from the ship is the lifeboat, to the nearest whole number?
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5y Inright triangle ABC, <C is the right angle. [fthe sin A = m/gﬁ, find the valuc of the tan A,
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